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T I ¥ R K i %
No. 2 0. 1 TI®D-3 NO. 2 NO. 3 NO. 4 NO. 5 NO. 6 NO. 7 NO. 8
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- A - FEE A 1.00 X 0.60 X( 1.39 — 0.10 )= m3 0.77
T BHO.28m3
LRI AR 1.00 X 0.60 X 0.29 — 0.006 = m3 0.17
T BHO.28m3
LN A 1.00 X 0.60 X 0.70 = m3 0.42
TSI T (RC-40)
t=15cm 1.00 X 0.60 = m2 0.60
RS T (RM-30)
t=20cm 1.00 X 0.60 = m2 0.60
BEIBTITE IH (A #EAs20mm, A 77)
t=5cm 1.00 X 0.60 = m2 0.60
LG T 4DT Al AL
FEAS 177 0.77 —( 0.42 = 0.90 )= m3 0.30
FELH T 4tDT
FEAS TAT7 Wik 1.00 X 0.60 X 0.10 = m3 0.06
BN
TAT7 /iR 0.06 X 235 = t 0.14




DIP-GX ¢ 400mmiBtkKEHRT HEFESE

L8037 0 400mm N=2F ZESF: d 75mm N=15

R #Y:1.20m~2.00m NO. 1
g H O’
TFE - BT E Bl B sHE B %
SEE-TMINFA=VT| | RER
H#H | GXF FosNEEHE ¢ 400 x 6,000 P 10| 6.000 6000 x( 10 + ) = 60.000
1RBE -ENINFAZVT
GXTz 49940 EEEkE ¢ 400 X 6,000 x 6 PERELY = 30575 4EH
GXft; BhE ¢ 400 x 90° & 1] 1.035 1035 x( 1 + ) = 1.035
GXft; BhE ¢ 400 x 45° & 4 0.655 0655 Xx( 4 + ) = 2620
GXft; BhE $400x22° 1/2 | {A 4 0.500 0500 x( 4 + ) = 2.000
GXft; BhE ¢$400x5° 5/8 & 3/ 0.390 0390 x( 3 + ) = 1170
w2
GXft; WZBhE G400%22° 1/2 | {@& 2/ 0210 0210 x( 2 + ) = 0420
GXTz 75K -z 2 75535
10V HTFE ¢ 400 % ¢ 75 & 3| 0465 0465 x( 2+ 1 ) = 1395 ZT=EH
GXTz #EdH ¢ 400 1@ 1/ 0.300 0300 x( 1+ ) = 0.300
GXHts 54+ ¢ 400 1& 11 0.055 0055 x( 11+ ) = 0.605
FEKHsREST
NSEE 2N 477/ 815 $ 400 75K {& 1/ 0.450 0450 x( 1+ ) = 0450
GXEEZYIM - F ©$400 7.5K & 1] 0.500 0500 Xx( 1 + ) = 0.500
DIPF NSEZO(EEHMIED)
MERLSEKETEE @ 400 X ¢ 400 & 2| 0.500 0500 x( 2 + ) = 1.000
mE
MERELOYS ¢ 400 #8 13 13 = 13
SUS304BN - 1" L% - #0dk ERE20
GXf; ERERESHM ¢ 400 fiozh 22 22 = 22
SUS304BN - 1" L% - #0dk ERE20
NSH; EFREREE M ¢ 400 #H 2 2 = 2
¢75-2%
KEARRZRF RS EIMA-75K | E 1 1 = 1
¢ 75-H150-7.5K- iz =2
F-VEEIESF FCD NS ER AR H 1 1T+ = 1
7.5K-fiz =2
FY4NIFVVEE ¢ 75-H=500 1& 1 1 + = 1
RF-GF3E RN Afyb B ul
7300 A 75 " 1 1 x 1 = 1
¢ 15GFH Ay & BT ml
770V MFH SUS304BN-75K | #A 2 1 x 2 = 2
WERAIY REREEE ¢ 75 & 1 1 = 1
hRAOYR H=300 X 3 3 = 3
hRAOYR H=1000 X 2 2 = 2
B 91.692 i 10.378
EELER = 102.070
A-TR AR EER
FYIFLYRY=T ¢ 400/ m 131.0 102070 x {70 x (1 + 01) + 60} = 130.990
8 1+ B RS BEEE-1 EER
[ERIAVIN ¢ 400 fo: | 160 102070 x {4 x 11) + 50) + 60} = 159.910
ERILER TR T ENiv
%‘Eﬁﬁﬁ_'—j W=50 m 99.7 102070 — 0465 — 0950 — 1.000 = 99.655 7N
ERILER TR T ENiv
m (90.7) 91.692 — — 0450 — 0.500 = 90.742 =4]
ERILER TR T ENiv
m (8.9) 10378 — 0465 — 0500 — 0.500 = 8913 ®’H
TEER TR T ENiv
BERAEE S —b W=150 2% m 99.4 101.838 — 0465 — 0950 — 1.000 = 99.423 2k
TEER TR T ENiv
m (90.7) 91616 — — 0450 — 0.500 = 90.666 =4]
TEER TR T ENiv
m (8.8) 10222 — 0 — 0500 — 0500 = 8757 ®’H




DIP-GX ¢ 400mmECKEMBRT HEHES

EY15F: @ 400mm N=2& ZEXFF: ¢ 75mm N=1&

SREH T 4Y:1.20m~2.00m

g H O’
TiE - BT E E x & &
® 250 H=1.20 H=2.00
H# tUHRAK%E ARV ® 2 1 1
TtUHH ¢ 250
LY Uik'yhR L#REE H=150 & 2 1 1
TtUHH ¢ 250
LY ukyha hEREE H=100 & 1 1
TtUHH ¢ 250
LY ukyha hEREE H=200 & 1 1
TtUHH ¢ 250
LY ukyha hEREE H=300 & 3 3
TtUHH ¢ 250
LY Uik'yhR TEREE H=300 1& 2 1 1
TtUHH ¢ 250
LY Uik'yhR EE(Ffz) H=40 | {& 2 1 1
¢ 500 H=1.20
ERTAKE Af3E " 1 1
ERFHA ¢ 500
Ly Uik yh R B H=200 LE] 1 1
ERFHA ¢ 500
LY Uk'yhA B H=300 & 1 1
ERFHA ¢ 500
LY Uik'yh A TEREE H=500 & 1 1
EXRFHA ¢ 500
Ly Uik yhR JEhR H=40 & 1 1




DIP-GX ¢ 400mmECKEMBRT HEHES

L8037 0 400mm N=2F ZESF: d 75mm N=15

R #Y:1.20m~2.00m NO. 1
g H O’
- BT E E x & B %
[EAIIRREET] FRAES
S ROAR T it ¢ 400 m 90.7 91692 — 0450 - = 90.742
EEES BE BYIE
GXFs #F T ¢ 400 ERT 15 10 5 = 15
EREES BlE
GXFs #F T ¢ 400 ERT 13| 13 = 13
EREES 5 ENCTES
NS #F T ¢ 400 ERT 3 2 1 = 3
GXF UERE
BB VBT ¢ 400 m] 77 = 7
GXF UERE
HExEVIT ¢ 400 m] 1 1 = 1
GXF UERE
HExEREYMIT ¢ 400 m] 20 2 = 2
GXf
#LOMT ¢ 400 m] 9 9 = 9
B ER
THrKERT ¢ 400 X ¢ 400 &T 1 1 = 1
HEUHHET ¢ 400 = 1 1 = 1
ERAEFET 75 = 1 1 FRg = 1
&R m]
IO HFT ¢75 7.5K m] 11 1 - WiER - FRTE = 1
wHiaes G0 o
ISUCHFET ¢75 7.5K m] 1 1 1 = 1
BEE/ AR
RYIFLURY-THEL ¢ 400 m 917 91.692 = 91.692
BERRT—T W=50 m 90.7 90.742 = 90742
HERAZH S —F W=150 2f&% m 90.7| 90.666 = 90.666
EKEERT BEER B s m | 102.1) 102.070 = 102.070
¢ 250 H=1.20
Y RASSREMAT (03 AR=% - &T 1 1 = 1
TtUHH ¢ 250
LY Uy A m T T L+E H=150 & 1 1 = 1
TtUHH ¢ 250
LY Uk vy R T &R H=100 1& =
TtUHH ¢ 250
LY Uy A m T T &R H=200 & 1 1 = 1
TtUHH ¢ 250
LY Uk vy R T &R H=300 1& =
TtUHH ¢ 250
LY Uy A m T T T& H=300 & 1 1 = 1
TtUHH ¢ 250
LY Uk vy R T EE(Ffz) H=40 | {& 1 1 = 1
¢ 500 H=1.20
ERFRAKEEAT M35 &R 1 1 = 1
ZERHFH ¢ 500
LY Uiy A m T T L& H=200 & 1 1 = 1
ZERHFH ¢ 500
LY Uiy A m T T & H=300 & 1 1 = 1
ZERHFH ¢ 500
LY Uiy A m T T T& H=500 & 1 1 = 1
ZERHFH ¢ 500
LY Uiy A m T T K& H=40 & 1 1 = 1




DIP-GX ¢ 400mmECKEMBRT HEHES

........... Y13 @ 400mm N=2F& ZE55F: @ 75mm N=1&
R M T 4Y:1.20m~2.00m
g H O’
TiE - BT E E x & &
[+ TI&BEET] e TS
Evid S ROAR T M ¢ 400 m 9.4 10378 — 0500 - 0500 9.378
EEES BE BYIE
GXFs #F T ¢ 400 (138 1 + 1 1
EREES BlE
GXfiz #F T ¢ 400 (138 9. 9 9
EREES BlE ENCES
NS#; #F T ¢ 400 (138 1 + 1 1
GXF
BB VBT ¢ 400 a 4 4 4
GXF
HUEUNT ¢ 400 [m]
GXF
HHGEBUMIT ¢ 400 a
GXF
ELOMT ¢ 400 [m] 4 4 4
B ER
THIKERT $400x ¢ 400  fHFR 1 1 1
HTURHRET ¢ 400 = 1 1 1
ERAHREL 675 = ERF - FRE
&R [m]
IV MFT ¢75 15K m] x 1 FiEE - #EH - FHATF
wHiaes G0 o
ITIUOMFT ¢75 7.5K a x 1
BE/ R
FYIFLVAY-THEL ¢ 400 m 104 10378 10.378
BERRT—T W=50 m 89 8913 8913
HERAZH S —F W=150 2% m 88 8757 8.757
EKEERT BREX B m
® 250 H=1.20 H=2.00
Y RASSREMAT CH154+y = & 1 + 1 1
TtUHH 250
LY Uy A m T T L+E H=150 1& 1 + 1 1
TtUHH ¢ 250
LY Uik yh A B T FE8 H=100 1& 1 + 1 1
TtUHH 250
LY Uik y)A/B T &R H=200 & +
TtUHH 250
LY Uik yh A B T FE8 H=300 1& 3 + 3 3
TtUHH ¢ 250
LY Uy A m T T T& H=300 1& 1 + 1 1
TtUHH ¢ 250
LY Uy A m T T EE(Ffz) H=40 | {& 1 + 1 1




DIP-GX ¢ 400mmECKEMBRT HEHES

EY15F: @ 400mm N=2& ZEXFF: ¢ 75mm N=1&

fex st £ #Y:1.20m~2.00m NO., 71
g H O’
TiE - BT E E x & B %
FE [+1)
@400
EEIETD-1 MEHEEERE m 900 900 900 | BREMET
@400
EHETD-2 MEHEEERE m 8.3 8.3 83 | wWREMET
MK 53 Iz ¢ 400
EEIET@-1 MEHEEERE m 1.4 14 14 | BREET
MK 53 Iz ¢ 400
EHLET@-2 MEHEEERE m 1.4 1.4 14 | ®REET
2 |
=T H=600-L=800 &T 31 38 7 31 BRREET
2 |
HiEHI B 13 26| 28 2 26 BT
=T H=600-L=800 &T 7 wREKET
BiEAI B & 2 HRMET
[t8T]
Z2MRAREET LSP-2&! W=250 | m{l +ITD
H=20m 1EB%E f=TiA#H m 900 900 900 | BRIET
B2MRAREET LSP-2&! W=250 | m{l +T@1
H=25m 2% f=TiA#H m 14 14 1.4 BRI
B2MRAREET LSP-2&! W=250 | m{l +ID-2
H=3.0m 2% f=TiA#H m 8.3 8.3 8.3 REET
B2MRAREET LSP-2&! W=250 | m{l +I@-2
H=35m 2% f=TiA#H m 14 14 1.4 REET




Bk DIP-GX ¢ 400 B)EFHE SRt - BUNVESE RO = 0.97m Y& = 1.02m
K K .
W # o | R o | oww | D)
R | E S|1FE R K SIFE B E [FEE BR OE S|FE BER | E S
o= GX 4434 1] 6x 1195 5629 | 0.371 2 1 2
4.43 23 7% 54 V23 1.20
= GX | 4.526] 3 GX | 1.055 5581 | o0419] 2 2
4.53 7% 7% 7% 7% 1.06
o= Gx | 12000 2 | G- | 1465 4 | Gx | 1.836 4501 | 1499 2 1 1 4
1.20 1.47 0z 54 7% 1.84
= GX | 5.408 5408 | 0592 1 1
5.41 % 53 % % 7%
o= GX  3.699 6 | Gx | 1.020 4719 1.281 2 9
3.70 23 7% 54 0z 1.02
= GX | 1.336] 5 ox | 3.401 4737 1263 2 2
1.34 7% 7% 7% 7% 3.40
E% DIP-GX ¢ 400(178%) L = 6,000 6 A 30.575| 5.425 11 1 2 13




T I ¥ R K i %
No. 1 NO. 1 TID-1 NO. 2 TI®D-2 NO. 3 TI@-1 NO. 4 TI®@-2 NO. 5 SR NO. 6 A NO. 7 NO. 8
400mm DIP-GX EEAKE (£4£) 90.0 “EE L 8.3 “EE L 1.4 “EE L 1.4 ZEE L 38.0 =& ARl 28.0 =& “EE L “EE L
SER L SEE L SEE L SEE L =R =R SEE L SEE L
£ i i 1 & &
AsEhiZEhR 2.00 180. 00 2.00 16. 60 2.00 2.80 2.00 2.80 (202.20 ) ( 200 )
SEUMT t=15cmLL T m
As&i%ERR BHO. 28m3 1.00 90. 00 1.00 8.30 1.40 1.96 1.40 1.96 1.35 37.80 (140.02 )| ( 140 )
SHERRERA T [t=10cmLL T m2
BHO. 28m3 1.53 137.70 2.24 18.59 2.56 3.58 3.68 5.15 0.48 18.24 2.07 57.96 (241.22)|( 240 )
AR R T ME L m3
BHO. 28m3 0.49 44.10 0.49 4.07 1.30 1.82 1.30 1.82 0.48 18.24 0.71 19. 88 ( 89.93)( 90 )
HHERT BER m3
BHO. 28m3 0. 60 54.00 1.31 10. 87 0.84 1.18 1.96 2.74 0. 81 22.68 (91.47)|( 90 )
HERT HESL m3
(RC-40) 1.00 90. 00 1.00 8.30 1.40 1.96 1.40 1.96 1.35 37.80 (" 140.02 )| ( 140 )
TREERET t=15cm m2
(RC-30) ( )¢ )
TREERET t=10cm m2
(RM-30) 1.00 90. 00 1.00 8.30 1.40 1.96 1.40 1.96 1.35 37.80 (140.02 )| ( 140 )
LRERET £=20cm m2
(RM-30) ( )¢ )
LRERET t=12cm m2
BAFHLA s20mm 1.00 90. 00 1.00 8.30 1.40 1.96 1.40 1.96 1.35 37.80 (140.02 )| ( 140 )
B R 18 16 t=5cm m2
BitunT 0. 86 77.40 0.78 6.47 1.63 2.28 1.50 2.10 0.48 18.24 1.17 32.76 (139.25)( 140 )
(£8) 41DT m3
BitunT 0.10 9.00 0.10 0.83 0.14 0.20 0.14 0.20 0.14 3.92 ( 14.15)|( 14)
(AS) 4tDT m3,
2ZAE 0.24 21.60 0.24 1.99 0.33 0.46 0.33 0.46 0.33 9.24 ( 33.75)|( 33.8)
ASH% t
TEEE 1.00 90. 00 1.00 8.30 1.40 1.96 1.40 1.96 1.35 37.80 140.0
HREREIR (5-5-15-15) m2,




T I ¥ R K i %
No. 2 NO. 1 TID-1 NO. 2 TI®D-2 NO. 3 TI@-1 NO. 4 TI®@-2 NO. 5 SR NO. 6 A NO. 7 NO. 8
400mm DIP-GX BEAKE (ERHIL) 90.0 “EE L “EE L 1.4 “EE L “EE L 31.0 =& ARl 26.0 =& “EE L “EE L
SER L SEE L SEE L SEE L =R =R SEE L SEE L
£ i i 1 & &
AsEhiZEhR 2.00 180. 00 2.00 2.80 182.80 ) ( 180 )
SEUMT t=15cmLL T m
As#iZtRR BHO. 28m3 1.00 90. 00 1.40 1.96 1.35 35.10 127.06 ) ( 127 )
SHERRERA T [t=10cmLL T m2
BHO. 28m3 1.53 137.70 2.56 3.58 0.48 14. 88 2.07 53.82 209.98 )| ( 210 )
AR R T ME L m3
BHO. 28m3 0.49 44.10 1.30 1.82 0.48 14. 88 0.71 18. 46 79.26 )| ( 80 )
HHERT BER m3
BHO. 28m3 0. 60 54.00 0.84 1.18 0. 81 21.06 76.24 )| ( 80 )
HERT HESL m3
(RC-40) 1.00 90. 00 1.40 1.96 1.35 35.10 127.06 ) ( 127 )
TREERET t=15cm m2
(RC-30) )¢ )
TREERET t=10cm m2
(RM-30) 1.00 90. 00 1.40 1.96 1.35 35.10 127.06 ) ( 127 )
LRERET £=20cm m2
(RM-30) )¢ )
LRERET t=12cm m2
BAFHLA s20mm 1.00 90. 00 1.40 1.96 1.35 35.10 127.06 ) ( 127 )
B R 18 16 t=5cm m2
BitunT 0. 86 77.40 1.63 2.28 0.48 14. 88 1.17 30. 42 124.98 )| ( 120 )
(£8) 41DT m3
BitunT 0.10 9.00 0.14 0.20 0.14 3.64 12.84 )| ( 13)
(AS) 4tDT m3,
2ZAE 0.24 21.60 0.33 0.46 0.33 8.58 30. 64 ) ( 30.6)
ASH% t
TEEE 1.00 90. 00 1.40 1.96 1.35 37.80 129.8
HREREIR (5-5-15-15) m2,




T I ¥ R K i %
No. 3 NO. 1 TID-1 NO. 2 TI®D-2 NO. 3 TI@-1 NO. 4 TI®@-2 NO. 5 SR NO. 6 A NO. 7 NO. 8
400mm DIP-GX BAKE (ZRIWEL) SEE L 83 =EEL SEE L 1.4 =EEL 7.0 =@ 2.0 =@ SEE L SEE L
SER L SEE L SEE L SEE L =R =R SEE L SEE L
£ i i 1 & &
AsEhiZEhR 2.00 16. 60 2.00 2.80 19.40) 19)
SEUMT t=15cmLL T m
As#iZtRR BHO. 28m3 1.00 8.30 1.40 1.96 1.35 2.70 12.96 ) 13)
SHERRERA T [t=10cmLL T m2
BHO. 28m3 2.24 18.59 3.68 5.15 0.48 3.36 2.07 4.14 31.24) 30)
AR R T ME L m3
BHO. 28m3 0.49 4.07 1.30 1.82 0.48 3.36 0.71 1.42 10.67 ) 10)
HHERT BER m3
BHO. 28m3 1.31 10. 87 1.96 2.74 0. 81 1.62 15.23) 20)
HERT HESL m3
(RC-40) 1.00 8.30 1.40 1.96 1.35 2.70 12.96 ) 13)
TREERET t=15cm m2
(RC-30) ) )
TREERET t=10cm m2
(RM-30) 1.00 8.30 1.40 1.96 1.35 2.70 12.96 ) 13)
LRERET £=20cm m2
(RM-30) ) )
LRERET t=12cm m2
BAEZH As20mn 1.00 8.30 1.40 1.96 1.35 2.70 12.96 ) 13)
B R 18 16 t=5cm m2
BitunT 0.78 6.47 1.50 2.10 0.48 3.36 1.17 2.34 14.27) 10)
(£8) 41DT m3
BitunT 0.10 0.83 0.14 0.20 0.14 0.28 1.31) 1)
(AS) 4tDT m3,
ZAE 0.24 1.99 0.33 0.46 0.33 0. 66 3.11) 3.1)
ASH% t
HEEE 1.00 8.30 1.40 1.96 1.35 37.80 48.1
HREREIR (5-5-15-15) m2,




T I #% E & & EBE
No, 1
s =  (D-1 DIP$400 L= 90.0 m (BE#HTL)
B s B = il H= 1.20 m
R = 0430 X 0430 X 1/ = 0.145
=P = X X z / =
Im2%47
% EA H | & & =
BRI T
AsEFLEIR t=15cmEL T 1.00 X 2 = m 2.00
LERIE 1. BHO.28m3
AsEERERR t=10cmbd 1.00 X 1.00 = m2 1.00
AT BHO.28m3
- A - FEE A 1.00 X 1.00 X( 1.63 — 0.10 )= m3 1.53
T BHO.28m3
LRI AR 1.00 X 1.00 X 0.63 — 0.145 = m3 0.49
T BHO.28m3
LN A 1.00 X 1.00 X 0.60 = m3 0.60
TSI T (RC-40)
t=15cm 1.00 X 1.00 = m2 1.00
/BT (RM-30)
t=20cm 1.00 X 1.00 = m2 1.00
BEIBTITE IH (A #EAs20mm, A 77)
t=5cm 1.00 X 1.00 = m2 1.00
LG T 4DT Al AL
FEAS 177 1.53 —( 0.60 = 0.90 )= m3 0.86
FELH T 4tDT
FEAS TAT7 Wik 1.00 X 1.00 X 0.10 = m3 0.10
EIN -
TAT7 /iR 0.10 X 235 = t 0.24




T I #% E & & EBE
No,2
WA =  (D-2 DIP$400 L= 83 m (FZEHL)
B s B = il H= 1.91 m
R = 0430 X 0430 X 1/ = 0.145
=P = X X z / =
Im2%47
% EA H | & & =
BRI T
AsEFLEIR t=15cmEL T 1.00 X 2 = m 2.00
LERIE 1. BHO.28m3
AsBHEER t=10cmll 1.00 X 1.00 = m2 1.00
AT BHO.28m3
- A - FEE A 1.00 X 1.00 X( 2.34 — 0.10 )= m3 2.24
T BHO.28m3
LRI AR 1.00 X 1.00 X 0.63 — 0.145 = m3 0.49
T BHO.28m3
LN A 1.00 X 1.00 X 1.31 = m3 1.31
TSI T (RC-40)
t=15cm 1.00 X 1.00 = m2 1.00
/BT (RM-30)
t=20cm 1.00 X 1.00 = m2 1.00
BEIBTITE IH (A #EAs20mm, A 77)
t=5cm 1.00 X 1.00 = m2 1.00
LG T 4DT Al AL
FEAS 177 224 —( 1.31 = 0.90 )= m3 0.78
FELH T 4tDT
FEAS TAT7 Wik 1.00 X 1.00 X 0.10 = m3 0.10
EIN -
TAT7 /iR 0.10 X 235 = t 0.24




T I #% E & & EBE
No,3
Brigi&s =  (@-1 DIP$400 L= 1.4 m (FEAKNE) (BRI T.)
B s B = il H= 1.20 m
R = 0430 X 0430 X 1/ = 0.145
=P = X X z / =
Im2%47
% EA H | & & =
BRI T
AsEFLEIR t=15cmEL T 1.00 X 2 = m 2.00
LERIE 1. BHO.28m3
AsBHEER t=10cmll 1.00 X 140 = m2 1.40
AT BHO.28m3
Wb A FEE £ 1.00 X 1.40 X ( 2.03 — 0.10 )— 0.145 =| m3 2.56
T BHO.28m3
K NFRED AR 1.00 X 1.40 X 1.03 — 0.145 = m3 1.30
T BHO.28m3
LG TN A 1.00 X 1.40 X 0.60 = m3 0.84
TSI T (RC-40)
t=15cm 1.00 X 1.40 = m2 1.40
/BT (RM-30)
t=20cm 1.00 X 1.40 = m2 1.40
BEIBTITE IH (A #EAs20mm, A 77)
t=5cm 1.00 X 1.40 = m2 1.40
LG T 4DT wmElE WAL
FEAA 1+ 256 —( 0.84 = 0.90 )= m3 1.63
FELH T 4tDT
FEAB TAT7 MR 1.00 X 1.40 X 0.10 = m3 0.14
EIN -
TAT7 b 0.14 X 235 = ¢ 0.33




T I #% E & & EBE
No,4
BrEiE S =  @-2 DIP$400 L= 1.4 _m (FBKIE) (Beldjh 1)
B s B = il H= 200 m
R = 0430 X 0430 X 1/ = 0.145
=P = X X z / =
Im2%47
% EA H | & & i =
BRI T
AsEFLEIR t=15cmEL T 1.00 X 2 = m 2.00
LERIE 1. BHO.28m3
AsEHEEIR t=10cmbd 1.00 X 1.40 = m2 1.40
I T. BHO.28m3
BRI A BEE - 1.00 X 1.40 X ( 2.83 — 0.10 )— 0.145 =| m3 3.68
HHEE T BHO.28m3
LN AR 1.00 X 1.40 X 1.03 — 0.145 = m3 1.30
HHEE T BHO.28m3
BN FEAE A 1.00 X 1.40 X 1.40 = m3 1.96
TSI T (RC-40)
t=15cm 1.00 X 1.40 = m2 1.40
/BT (RM-30)
t=20cm 1.00 X 1.40 = m2 1.40
BEIBTITE IH (A #EAs20mm, A 77)
t=bcm 1.00 X 1.40 = m2 1.40
LG T 4DT wmElE WAL
FBUAL | 3.68 —( 1.96 = 0.90 )= m3 1.50
FE T 4DT
TGS TR 1.00 X 1.40 X 0.10 = m3 0.14
EIN:
TR77 /b 0.14 X 235 = ¢ 0.33




WiETES =

2778 DIP g 400 L=

0.8

PREL B =

11738 FE

H:

0.60

R =

X

X

R =

X

X

=111}
—+

"

i

No, 1

150

&

i A

7

# ]

#

=X
A

%

BRI T
AsEFLEIR t=15cmEL T

LERIE 1. BHO.28m3
AsEFLER t=10cmId T

mZ2

UKL BHO.28m3
2 WE L BEE L

1.00

0.80 X ( 0.60 —

0.00 )

m3

0.48

HHECT BHO.28m3
LN AR

1.00

0.80

X _0.60 — 0.000

m3

0.48

HEECT BHO.28m3
LN FEAE A

m3

AT (RC-40)
t=15cm

mZ2

LT (RM=30)
t=20cm

mZ2

BEIETIRIE IH (F-AE B # I As20mm, A 77)
t=bcm

mZ2

FELH T 4tDT
FHiAS A%

IR
0.48

RS

—( 0.00

+~ 090 )=

m3

0.48

FELH T 4tDT
FEARL TAT7 Y

m3

YN
TR77 /bR




+ T it B =
No, 1
W5 = BRI DIP$400 L= 1.35 m
B s B = il H= 1.20 m
R = 0430 X 0430 X 1/ = 0.145
=P = X X z / =
15972450
% EA H | & & =
BRI T
AsEHEIEIR t=15emIL T m
LERIE 1. BHO.28m3
AsBHEER t=10cmll 1.00 X 1.35 = m2 1.35
AT BHO.28m3
- A - FEE A 1.00 X 1.35 X ( 1.63 — 0.10 ) m3 2.07
T BHO.28m3
LRI AR 1.00 X 1.35 X 0.63 — 0.145 m3 0.71
T BHO.28m3
LN A 1.00 X 1.35 X 0.60 = m3 0.81
TSI T (RC-40)
t=15cm 1.00 X 1.35 = m2 1.35
/BT (RM-30)
t=20cm 1.00 X 1.35 = m2 1.35
FRIBTORTE [H (FEAEHIFIAS20mm, A 7))
t=bcm
BRIBTITE IH (A #EAs20mm, A 77)
t=5cm 1.00 X 1.35 = m2 1.35
LG T 4DT Al AL
FEAS 2 207 —( 0.81 = 0.90 )= m3 1.17
FELH T 4tDT
FEAS TAT7 W% 1.00 X 1.35 X 0.10 = m3 0.14
EIN
TAT 7/ iR 0.14 X 235 = t 0.33




FOKE SRR T MEEEE No.b
| Sl Ok ALl & FEHE
AstidE (F52#) (5-5-15-15) FEEE (t=10cm)  261.9 AsBEF 261.9 m2
EAEAAE 10 i fE
AsEfizk (BE) (3-10) BB 90. 6
iEERMET SEEERR B AsEHSERR - t=15cmL_E30emEl T HIH m
AsEHEERR « 15emPA T HiE  116.3 S m 148.0 148
SRR RUKE 2 ETHREE BEGEHE Y 140.0 of + 2.3 nf
(REEEE - B HaE)
(5-5-15-15) BERRAE S Ihha: T THEFHE BmKEHLD
S g e Bl /K (A T TAEFE BEIEIRXY
Al o 23 - X _
(i - 2E) BRI (b LTS BEEEIR LD - 2
TERRA A (RE2EE) i HLE (t=10cm) MEEAEIHmAE 2619 - {REHEEmAE
8 L3 (t=5cm) EHEEANTE H T FE T
A HEEAREIHmAE  90.6 - {REEEmAE
ARLERR A AT AsEHIERR + t=10cmbPA F MEEE 261.9 o+ AnEAE m2 352.5 353
AsERIERR « t=15cmPA F40emPA T + m2
ENEALEE (Ash T B (t=10cm) atide
PRI L 149.3 X 0.05 + =
Al
TTSE AT (t=5em) P X 0.03 +
A
[UELESL 21,0 X 0.03 + m3 21.4 21
AsiSE N3 18.7 X 2.35 t/m3 t 49.9 49.9




BiKE  BEEAEIAT BELFE  No.b
Bl A B Bk B K HAr| & At S
+T bl B ImH (&L v) O EAsfAE  149.3 X 0.05 7.47
@ As RS X 0.02 m3 7.5 8
B A LR FEA T m3 7.5 8
e A m3 7.5 8
SEAEIET  [REEEIE LA T - Al A FUETEHEAE HmRE  261.9 m2 261.9 262
HRIE N T+ Al A T HRTHE AR A 1 T 90. 6 m2 90. 6 91
£E (FH) ;ﬁi’:‘g%’iézg)m t=5em OMEAGIIERE 2619 + m2 261.9 262
HE () fi ifg%gézg)m t=bem OHEARINER 261, 9 m2 | 2619 262
#iE (i) \E%%Eﬁg{(ls) " =3em BEEIER 90.6 + m2 90. 6 91
I T e NG ik - A - W=15emf% KEFIER R E LD m 80. 2 80
FEHR - B - W=45em B X E R R E L m 13.7 14
REV-XCF-FLAW=10em#i B | KEHUERFREEL Y m 23.7 24




H OB 1 sAER  F A OE muswn)

FLEIL EEEARIE IR AsUIWT
Y HOHBE W N I LR E DIWTIE =
[As t=10cm (5-5-15-15)]
4. 20 4. 20 1 4. 20
©) .2 4. 20 4. 20 0. 84 0. 20 1 0. 20
.2 4. 20 4. 20 9.24 2.20 1 2.20
1.8 2.37 3.29 5.92 2. 60 1 2. 60
® 15.9 2.16 2.27 36. 09 15. 90 1 15. 90
11.9 2.12 2. 14 25. 47 11. 90 1 11. 90
3.00 0. 90 1 0. 90
1.8 4.01 3.51 6. 32 2. 00 1 2. 00
1.2 4.03 4.02 4.82 1. 20 1 1. 20
2.19 1. 80 1 1. 80
® .6 2.32 2.26 10. 40 4. 60 1 4. 60
2.4 2.43 2.38 5.71 2. 40 1 2. 40
@ 17.2 2.21 2.32 39. 90 17. 20 1 17. 20
9.6 2.48 2.35 22. 56 9. 60 1 9. 60
® 5.9 2.31 2. 40 14. 16 5.90 1 5.90
11.8 2. 17 2.24 26. 43 11. 80 1 11. 80
2.1 2.58 2.38 5. 00 2.10 1 2.10
1.4 3.03 2.81 3.93 1. 40 1 1. 40
3.1 4.23 3.63 11. 25 3.10 1 3.10
1.1 4.78 4.51 4. 96 1.10 1 1.10
1.1 5.56 5.17 5.69 1.10 1 1.10
1.5 5.56 5.56 8. 34 1.50 2 3. 00
3.2 3.70 4.63 14. 82 3.20 2 6. 40
3.70 1 3.70

SREEE IR 261. 85 116. 30




HoE 1 # sAmR B A E (musmn)
F Rl BELEAIE IR AsHIr
i Py P B W ¥ M FER ES o Y ik &
X [ R
E#R (A -W=15cm)
SMEIHE 80. 2 = 80. 2m
AR (9 - W=15cm)
0.0m
E#R (3 -W=45cm)
EIERR1. 7 = 1.7
HEWrAE 112, 0 = 12.0
v75 = 0.0
G 13. 7m

X i
05 (H-W=15cmifi )
HITE (BEAHT) 7.9X3

= 23.Tm




HoE 2 & sigeammE 3 OH OE s
FLEIL EEEARIE IR AsUIWT
il SR Hfe W N I LR E DIWTIE =
[#3EAs  (3-10)]
EE LA 2.41 2. 40 1
11.0 2.08 2.25 24. 75 11. 00 1 11. 00
2.46 0. 50 1 0. 50
7.7 2.39 2.43 18.71
12. 30 2.43 2.41 29. 64
/NEtF 73. 10 11.50
& A 1.55 1.55 1 1.55
5. 00 1.55 1.55 7.75 5. 00 2 10. 00
2.17 0. 60 1 0. 60
2. 00 1.79 1.98 3.96 2. 00 1 2.00
1. 40 1.36 1.58 2.21 1.40 1 1. 40
4. 30 0. 30 0.83 3.57 4. 30 1 4. 30
0. 30 1 0. 30
/NEtF 17. 49 20. 15
EIEIEIREE 90. 59 31. 65




VLPéSOmmEKERRT BEHEE
EFE- O HIKEVLP ¢ 50mm FsRIER : L=2.940m (1.940m)

Y058 @ 75mm N=1X

R 1Y :1.35m NO, 3
g 4 R
IiE - BT ) % £ | B4R 1w _Z
GXF 7.5K-F =2 ()] 0.350 0350 x( 1 + + = 0350
H# IV HTEE 400 % ¢ 75 ] x( + + =
SRR
MLy—-MEF b5 = 1] 0.240 0240 x( 1 + ) = 0.240
70V MFHEREE b5 & 1 1 = 1
BEEER #HSUHFET b5 = 0.590
EIEEZILSAZU TS d) 50 X 4,000 m 2.4 0550 + 0400 + 1000 + 0.400 = 2.350 YIER
a74%
BT TN ¢ 50 & 4 4 = 4
a74%
Be34=09'7'3%" ¢ 50 & 1 1 = 1
A
FCD &75v% G75% $p50 75K | ¥ 1 1 = 1
RF-GFZ A
75990 Ak ¢ 75 4 1 1 = 1
RFSY7" 0" 2hry b
770V F @75 #H 1 1 = 1
ali:1=PIN H=300 7N 1 1 = 1
BEER VLP ¢ 50 = 2350
HH VLP
BEEER 0590 + 2.350 = 2940
BRER To#
ERRT—T W=50 m 2.1 2940 — 0.240 = 2700
TEER T BB+
BERER— W=150 2{& m 1.4 1940 — 0240 — 0.300 = 1.400
¢ 250 H=1.35
TSRS CH1ERIH ] 1 1 = 1
T+ A ¢ 250
L WYL L& H=150 & 1 1 = 1
T+ A ¢ 250
L WYL & H=100 & 1 1 = 1
T+ A ¢ 250
L WYL & H=300 & 1 1 = 1
T+ A ¢ 250
L WYL T & H=300 & 1 1 = 1
T+ A ¢ 250
L WYL EE(MHf2) H=40 | {& 1 1 = 1




VLP ¢ S50mmEBEKERRT HEFHES

EFE- O HIKEVLP ¢ 50mm FsRIER : L=2.940m (1.940m)

Y058 @ 75mm N=1X

R 1Y :1.35m NO, 3
g 4 R
TiE - KT ZE B % & H %
FE (ERT]

HHExE R @75 m 0.4| 035 = 0.35
TOFFET b5 = 1 1 = 1
ISUDHMFT ¢ 75 7.5K m] 1 1 = 1

wHiEeR
ISVDHMFT ¢ 75 7.5K m] 1 1 = 1
MNOERFERTT ¢ 50 m 24| 235 = 924
LD yEHE
NOZREEUBT ¢ 50 [m] 4 4 UEREK = 4
ey
NORFERFT ¢ 50 m] 8 4 MEXRH x 2 = 8
RLAHESE LK BISUY
NORMERFT ¢ 50 a 9 4 x 2 4+ = 9
aV9Y—kEIR HIFL#Z ¢ 80 7 1 1 BE 254t = 1
EHRT—JL W=50 m 27| 2700 = 2700
BERZERS— T W=150 2{& m 1.4|  1.400 = 1.400
¢ 250
TUFAKEREGT cisExrTR  |&F 1 1 = 1
to#H ¢ 250
VY uR AR T L# H=150 & 1 1 = 1
T+ A ¢ 250
VY UR AR T 8 H=100 & 1 1 = 1
T+ A ¢ 250
VY Uk yh AR T 8 H=300 & 1 1 = 1
T+ A ¢ 250
Ly ok ) AR T T & H=300 & 1 1 = 1
T+ A ¢ 250
VY Uk AR T EE(Hf2) H=40 | {& 1 1 = 1
(£T]
¢ 50
+TID-4 hEEE m 1.7 1.7 = 17
-+ IT
200 X 200 X 100 VLP ¢ 50-18iffF
avh-+T 0200 x 0200 x 0100 — VLP ¢ 50
18N-8-40 m3 | 0.004 0060 x 0060 X m / 4 x 0100 = 0.004 | 1&fFHY
AT 0200 x 0.100 X 2 4+ 0200 x 0.200
INEIEEY m2 0.07 — 0060 x 0060 x ;w 4 x 2 = 0074




T T ¥ R E B R
No. 3 0. 1 TID-4 NO. 2 NO. 3 NO. 4 NO. 5 NO. 6 NO. 7 NO. 8
50mm VLP #EK & 1.7 =EE L SEE L SEE L SEE L SEE L SEE L SEE L CER L
SEE L SEE L SEE L SER L SER L SER L SER L SER L
£ i i 1 & F BER=E
AsEliZEhR 2.00 3.40 3.40 ) ( 3)
SEUMT t=15cmA T m
AsEiZEhR 0. 60 1.02 1.02 ) ( 1)
SHERRFEFA T [t=10cmA T m2
BHO. 13m3 0.79 1.34 1.34)( 1)
AR R T ME L m3
BHO. 13m3 0.15 0.26 0.26 )| ( 0.3)
HHERT BER m3
BHO. 13m3 0.45 0.77 0.77)|( 0.8)
HERT HESL m3
(RC-40) 0.60 1.02 1.02 ) ( 1)
TREERET t=15cm m2
(RM-30) 0.60 1.02 1.02 ) ( 1)
LRERET £=20cm m2
BEZH As20mm 0.60 1.02 1.02 ) ( 1)
B R 18 16 t=5cm m2
BitunT 0.29 0.49 0.49 )| ( 0.5)
(£8) 2tDT m3
BitunT 0. 06 0.10 0.10 ) ( 0.1)
(AS) 2tDT m3,
ZAE 0.14 0.24 0.24)|( 0.2)
ASH% t
TEEE 0.60 1.02 1.0
HRE{REIR (5-5-15-15) m2,




+ I # it B =
No, 1
WA = @O-4 VIP$50 L= 1.7 m
B s B = il H= 1.35 m
EHEEE = 0060 X 0060 X 1z / = 0.003
=P = X X z / =
Im2%47
% 7t #H = H o & & i =
BRI T
AsEHHEIR t=15cmIL T 1.00 X 2 = m 2.00
BHEERR A T
AsBHEER t=10cmll 1.00 X 0.60 = m2 0.60
AT BHO. 13m3
- A - FEE A 1.00 X 0.60 X( 1.41 — 0.10 )= m3 0.79
T BHO. 13m3
LRI AR 1.00 X 0.60 X 0.26 — 0.003 = m3 0.15
T BHO. 13m3
LN A 1.00 X 0.60 X 0.75 = m3 0.45
TSI T (RC-40)
t=15cm 1.00 X 0.60 = m2 0.60
RS T (RM-30)
t=20cm 1.00 X 0.60 = m2 0.60
BEIBTITE IH (A #EAs20mm, A 77)
t=5cm 1.00 X 0.60 = m2 0.60
LG T 2tDT Al AL
FEAS 177 0.79 —( 0.45 = 0.90 )= m3 0.29
FELH T 2tDT
FEAS TAT7 Wik 1.00 X 0.60 X 0.10 = m3 0.06
BN
TAT7 /iR 0.06 X 235 = t 0.14




el HEHES

EFE - O #EDIP ¢ 400:L=22.0m, DIP ¢ 75:L=1.0m

EA#£DIP ¢ 400mm:L=71.0m, DIP ¢ 75:L.=14.0m

R & T HY:1.20m~1.30m NO. 4
& 4 R
I/ g _# BRTZE g % & B _Z
H#
H%ER
THKE ST @ 400 & 1 1 1
Bt it B L 3R 4+
KE &g ¢ 400 1@ 4 4 4
Bt 5t B L 3R 4+
KE &g 75 & 1 1 1
75Kz =1
IS5V E 75 " 2 2 2
@ T5RFYT " 2yb
770V BF SUS304BN-7.5K | #f 2 2 2
=
FE [#%=T)
THKESFHRET ¢ 400 (&7 1 1 1 |
R (15%1 L)
AAZHIBET ¢ 400 [m] 2 2 2
HEFR(15%1L)
AAZHhIBRFT ¢ 400 =] 20 2 2 ®’E
R (15%1L)
AAZAIBET ¢ 75 [m] 1 1 1
IS5V MFRSALT 75 =] 20 2 2
ISUCHET ¢ 75 [m] 2 2 2
BEERARMET 75 = 2] 2 2
B ERET HERE ¢ 400 m 21.0| 21.000 21.000
B EHRET #H%E ¢ 400 m 1.0 1.000 1.000 &R
B ERET HHESTS m 1.0 1000 + 1.000
HERERETNT ¢ 400 m] 7 21000 + 30 m/0 7
B ERETRT ¢ 400 =] 2 2 2 |
HERERETNT 75 [m] 2 2
Bt RHERE 54 1
B ERAMERE 54 2
HEEERLE 2REE E 1
29597 t 2.2 2169 2.169
[EAteT)
@ 400 »75
EILSIILFTEL m 85.0 71.000 + 14.000 85.000
(FREH=E) m® | (8.98) /4 X 040> x 71.0 + 7/4 X0.075* X 14.0 8.984
[£T]
@400
EHIL T@-1 TEFEEERE) m 1.0 10 + 1.0 w
@400
EEI L TO-1 HmESE m 210 210 + 21.0
75
EHILIT@-2 MEEEERR) | m 1.0 10 + 1.0
B St ¢ 400
EHILIO TMEEEERE m 22 22  x 1@ERT 22 "
[t88T1])
ZEMARLIBT LSP-2& W=250 | &l +I®
H=3.0m 2EEX{} = TRAH m 2.2 22 + 2.2 w”
ZEMARLIBT LSP-2& W=250 | &l +IG-1
H=2.0m 1EEX{% =TAH m 210 210 + 21.0




T I ¥ R K i %
No. 4 NO. 1 TI@-1 NO. 2 +I®-1 NO. 3 TI@-2 NO. 4 TI® NO. 5 NO. 6 NO. 7 NO. 8
FRERE 1.0 =EE L 21,0 =ER L 1.0 =EEL 1.0 =@ N SEE L SEE L SEE L SEE L
SEE L SEE L SEE L =& N SEE L SEE L SEE L SER L
£ i i 1 & & BER=
AsEliZEhR 2.00 2.00 2.00 42.00 2.00 2.00 8.40 8.40 54. 40 ) ( 54)
SEUMT t=15cmA T m
AsEiZEhR 1.00 1.00 1.00 21.00 0. 60 0.60 4.40 4.40 27.00 ) ( 27)
SHERREFA T [t=10cmA T m2
BHO. 28m3 2.19 2.19 1.46 30. 66 0. 81 0.81 11. 69 11.69 45.35 ) ( 50 )
AR R T ME L m3
BHO. 28m3 4.21 4.21 4.21)|( 4)
HHERT BER m3
BHO. 28m3 2.03 2.03 1.50 31.50 0.76 0.76 6.16 6.16 40. 45 )l ( 40)
HERT HESL m3
(RC-40) 1.00 1.00 0. 60 0.60 4.40 4.40 6.00 ) ( 6)
TREERET t=15cm m2
(RC-30) 1.00 21.00 21.00 ) ( 21)
TRERET t=10cm m2
(RM-30) 1.00 1.00 0. 60 0.60 4.40 4.40 6.00 ) ( 6)
LRERET £=20cm m2
BAZTHLAs13mm 1.00 21.00 21.00 ) ( 21)
B R 18 16 t=3cm m2
BAFHLA s20mm 1.00 1.00 0. 60 0.60 4.40 4.40 6.00 ) ( 6)
B R 18 16 t=5cm m2
BitunT -0.07 -0.07 -0.21 -4.41 -0.03 -0.03 4.85 4.85 0.34)|( 0.3)
(£8) 41DT m3
EER Y 0.10 0.10 0.03 0.63 0.02 0.02 0.44 0.44 1.19 ) ( 1)
(AS) 4tDT m3,
2AE 0.24 0.24 0.07 1.47 0.05 0.05 1.03 1.03 2.79)|( 2.8)
ASH% t
TEEE 1.00 1.00 0. 60 0.60 4.40 4.40 6.0
HREREIR (5-5-15-15) m2,
HESE 1.00 21.00 21.0
HREREIR (3-10) m2,




T I ¥ R K i %
No.5 NO. 1 NO. 2 +I®-1 NO. 3 TI@-2 NO. 4 NO. 5 NO. 6 NO. 7 NO. 8
HREBME (REHL) SEE L 21,0 =ER L 1.0 =EEL =tifr N SEE L SEE L SEE L SEE L
SEE L SEE L SEE L =& N SEE L SEE L SEE L SER L
£ i i 1 & & BER=
AsEliZEhR 2.00 42.00 2.00 2.00 44.00 )| ( 44 )
SEUMT t=15cmA T m
AsEiZEhR 1.00 21.00 0. 60 0.60 21.60 ) ( 22)
SHERREFA T [t=10cmA T m2
BHO. 28m3 1.46 30. 66 0. 81 0.81 31.47 )] ( 30)
AR R T ME L m3
BHO. 28m3 ) ¢ )
HHERT BERD m3
(RC-40) 0. 60 0.60 0.60 )| ( 0.6)
TREERET t=15cm m2
(RC-30) 1.00 21.00 21.00 ) ( 21)
TREERET t=10cm m2
(RM-30) 0. 60 0.60 0.60 )| ( 0.6)
LRERET £=20cm m2
BAZTHLAs13mm 1.00 21.00 21.00 ) ( 21)
B R 18 16 t=3cm m2
BAFHLA s20mm 0. 60 0.60 0.60 )| ( 0.6)
B R 18 16 t=5cm m2
BitunT -0.21 -4.41 -0.03 -0.03 -4.44 )] ( -4.4 )
(£8) 41DT m3
BitunT 0.03 0.63 0.02 0.02 0.65 )| ( 0.7)
(AS) 4tDT m3,
ZAE 0.07 1.47 0.05 0.05 1.52 ) ( 1.5)
ASH% t
HEEE 0. 60 0.60 0.6
HRE{REIR (5-5-15-15) m2,
HESE 1.00 21.00 21.0
HREREIR (3-10) m2,




T I ¥ R K i %
No. 6 NO. 1 TI@-1 NO. 2 NO. 3 NO. 4 TI® NO. 5 NO. 6 NO. 7 NO. 8
HREME (BHL) 1.0 =EE L SEE L SEE L 1.0 =@ N SEE L SEE L SEE L SEE L
SEE L SEE L SEE L =& N SEE L SEE L SEE L SER L
£ i i 1 & & BER=
AsEliZEhR 2.00 2.00 8.40 8.40 10.40 )| ( 10)
SEUMT t=15cmA T m
AsEiZEhR 1.00 1.00 4.40 4.40 5.40 ) ( 5)
SHERREFA T [t=10cmA T m2
BHO. 28m3 2.19 2.19 11. 69 11.69 13.88 )| ( 10)
AR R T ME L m3
BHO. 28m3 4.21 4.21 4.21)|( 4)
HHERT BER m3
BHO. 28m3 2.03 2.03 6.16 6.16 8.19)|( 8)
HERT HESL m3
(RC-40) 1.00 1.00 4.40 4.40 5.40 ) ( 5)
TREERET t=15cm m2
(RC-30) )¢ )
TRERET t=10cm m2
(RM-30) 1.00 1.00 4.40 4.40 5.40 ) ( 5)
LRERET £=20cm m2
BEZH As13mm K )
B R 18 16 t=3cm m2
BEZRH As20mm 1.00 1.00 4.40 4.40 5.40 ) ( 5)
B R 18 16 t=5cm m2
EituonsT -0.07 -0.07 4.85 4.85 4.78 )| ( 5)
(£8) 41DT m3
ERitunsT 0.10 0.10 0.44 0.44 0.54 )| ( 0.5)
(AS) 4tDT m3,
ZAE 0.24 0.24 1.03 1.03 1.27)( 1.3)
ASH% t
TEEE 1.00 1.00 4.40 4.40 5.4
HREREIR (5-5-15-15) m2,
TESE
HREREIR (3-10) m2,




+ I BB HEE

No, 1
WriGisEH =  @-1 DIPg400 L= 1.0 m (KL
Brigib B = IE H= 2.00 m
R = 0430 X 0430 X 1 / 4 = 0.145
= LR = X X z / =
Im2%40
% B i & Z o #o& g =
EHLELI T
AsBFIERK t=15cmlL T 1.00 X 2 = m 2.00
BULEN A 1
AsBFIERK t=10cml{ T 1.00 X 1.00 = m2 1.00
i T, BHO.28m3
P 1 B A 1.00 X 1.00 X( 243 — 0.10 )— 0.145 =| m3 2.19
IR T. BHO.28m3
SLNGED  FAERY m3 0.00
HIEE T BHO.28m3
SN A A 1.00 X 1.00 X 2.03 = m3 2.03
FEEAE T (RC-40)
t=15cm 1.00 X 1.00 = m2 1.00
LB EAR T (RM-30)
t=20cm 1.00 X 1.00 = m2 1.00
BEIETIR B I (A, ASs20mm, A 7))
t=bcm 1.00 X 1.00 = m2 1.00
FEL G T ADT malt+  WHEt
FHiAS 4P 2.19 —( 2.03 = 0.90 )= m3 -0.07
FEL G T ADT
FEAS TRT7/ P 1.00 X 1.00 X 0.10 = m3 0.10
ZNE
TAT7 /b’ 0.10 X 2.35 = t 0.24




T I % E H F &

No,2
Wik s =  G-1 DIP$400 L= 21.0 m (BEHT)
Brigib B = A H= 1.20 m
R = 0430 X 0430 X 1 / = 0.145
grf%:b/)j? = X X V4 / =
Im2%40
% B i & Z o #Ho& g =
ARG L
AsBFIERK t=15cmlL T 1.00 X 2 = m 2.00
DI T
AsBFIERK t=10cml{ T 1.00 X 1.00 = m2 1.00
LT, BHO.28m3
B E A B 1.00 X 1.00 X( 1.63 — 0.03 )— 0.145 =| m3 1.46
FAEE 1. BHO.28m3
SLNGED  FAERY m3 0.00
FAEZ 1. BHO.28m3
KN A 1.00 X 1.00 X 1.50 = m3 1.50
TSR T (RC-530)
t=10cm 1.00 X 1.00 = m2 1.00
_F/EEAE T (RM-30)
t=22cm
BEIETIR B I (B # As 1 3mm, A 7))
t=3cm 1.00 X 1.00 = m2 1.00
FEL A5 T 4tDT el WAL
HEAA - 1.46 —( 1.50 = 0.90 )= m3 -0.21
FEL A T ADT
FEA L TAT7 W EE 1.00 X 1.00 X 0.03 = m3 0.03
ZNE
TAT 7N EE 0.03 X 235 = ¢ 0.07




+ I BB HEE

No, 3
Wik s = @-2 DIP¢75 L= 1.0 m (BEWT)
Brigib B = IE H= 1.30 m
B = 0090 X 0090 X x [/ = 0.006
grf%:b/)j? = X X V4 / =
Im2%40
% B i & Z o #o& g =
BT
AsBFIERK t=15cmll 1.00 X 2 = m 2.00
BULEN A 1
AsEELEIR t=10cmEl T 1.00 X 0.60 = m2 0.60
i T, BHO.28m3
- A B A 1.00 X 0.60 X( 1.39 — 0.03 )— 0.006 =| m3 0.81
HIEE 1. BHO.28m3
SLNGED  FAERY m3 0.00
HIEE T BHO.28m3
B NG FEAE A 1.00 X 0.60 X 1.26 = m3 0.76
TSR T (RC-530)
t=15cm 1.00 X 0.60 = m2 0.60
LB EAR T (RM-30)
t=20cm 1.00 X 0.60 = m2 0.60
BEIETIR B I (A, ASs20mm, A 7))
t=bcm 1.00 X 0.60 = m2 0.60
FEL G T ADT malt+  WHEt
FEAZL 1% 0.81 —( 0.76 — 0.90 )= m3 -0.03
FEL G T ADT
FEAZL TR 1.00 X 0.60 X 0.03 = m3 0.02
ZNE
TR 7/ bk 0.02 X 235 = ¢ 0.05
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No,4
g5 = @  DIPp400 L= 2.2 m (THAKEIHR) (FH i T)
Brigrg B = il H= 200 m
BEHE = 0430 X 0430 X z/1 X 220 = 0.319
B R = X X —
1B 0
% B i & Z o #o& i =
LI T
ASsEHEIR t=15cmbl F 220 X 2 + 200 X 2 = m 8.40
LR T
AsEEREIR t=10cmil T 2.20 X 2.00 = m2 4.40
LT, BHO.28m3
WP FEET - 2.20 X 2.00 X( 283 — 0.10 )— 0.319 =| m3 11.69
HEET BHO.28m3
LN AR 2.20 X 2.00 X 1.03 — 0.319 = m3 4.21
HEET BHO.28m3
LN T A 2.20 X 2.00 X 1.40 = m3 6.16
TS T (RC-40)
t=15cm 2.20 X 2.00 = m2 4.40
_F/EEAE T (RM-30)
t=20cm 2.20 X 2.00 = m2 4.40
BRI TE TH (AL A s20mm, A 77)
t=bem 2.20 X 2.00 = m2 4.40
FEL AT DT EE = vom L
FEAS 11.69 —( 6.16 = 0.90 )= m3 4.85
FET AT DT
FEAL TR 2.20 X 2.00 X 0.10 = m3 0.44
N
FR77 b 0.44 X 2.35 = ¢ 1.03
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